Graph Interpretation

The Shortest Line Mystery

Directions:  Use the graph below to interpret energy usage in Watts based on the speed the robot is traveling.
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Guiding Questions:

1.  If the robot is traveling in a straight line, why is the graph not in a straight line?

2.  What might account for the power usage being different at different speeds?

3.  This graph is an example of what variable as a function of what other variable?

4.  How many Watts is the robot using at 2 feet per second?

5.  What is the most efficient speed (optimal speed) for the robot to travel?

6.  How many Watts is the robot using at this speed?

7.  What is the most efficient speed for the robot to travel if it needs to travel a given distance from point A to point B?  Why? What calculations would justify the answer?
Energy Consumption


(measured in Watts/min)
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